



The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at wvOASIS.gov. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at WVPurchasing.gov with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

Header

List View

General Information | [Contact](#) | [Default Values](#) | [Discount](#) | [Document Information](#) | [Clarification Request](#)

Procurement Folder: 1896815

Procurement Type: Central Purchase Order

Vendor ID: VS0000045827

Legal Name: Perfect Resource Group LLC

Alias/DBA:

Total Bid: \$44,730.00

Response Date: 03/10/2026

Response Time: 13:14

Responded By User ID: annusmahmood

First Name: Annus

Last Name: Mahmood

Email: admin@prgcorps.com

Phone: 5712069518

SO Doc Code: CRFQ

SO Dept: 0313

SO Doc ID: DEP2600000026

Published Date: 3/3/26

Close Date: 3/10/26

Close Time: 13:30

Status: Closed

Solicitation Description: REAP / AAH Promotional Items

Total of Header Attachments: 0

Total of All Attachments: 0



Department of Administration
 Purchasing Division
 2019 Washington Street East
 Post Office Box 50130
 Charleston, WV 25305-0130

**State of West Virginia
 Solicitation Response**

Proc Folder: 1896815
Solicitation Description: REAP / AAH Promotional Items
Proc Type: Central Purchase Order

Solicitation Closes	Solicitation Response	Version
2026-03-10 13:30	SR 0313 ESR03102600000005844	1

VENDOR
 VS0000045827
 Perfect Resource Group LLC

Solicitation Number: CRFQ 0313 DEP2600000026
Total Bid: 44730
Response Date: 2026-03-10
Response Time: 13:14:27
Comments:

FOR INFORMATION CONTACT THE BUYER

Joseph (Josh) E Hager III
 (304) 558-2306
 joseph.e.hageriii@wv.gov

Vendor Signature X **FEIN#** **DATE**

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Backpack Coolers	20.00000	EA	30.000000	600.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Backpack Coolers
per section 3.1.1 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Crossland Camp Chairs, or equal	20.00000	EA	28.000000	560.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Crossland Camp Chairs, or equal
per section 3.1.2 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Oversize Beach Towels	20.00000	EA	32.000000	640.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Oversize Beach Towels
per section 3.1.3 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Recycled Blend Totes	50.00000	EA	8.000000	400.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Recycled Blend Totes
per section 3.1.4 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	60" Sport Umbrella	20.00000	EA	25.000000	500.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

60" Sport Umbrella
per section 3.1.5 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Outdoor Essentials Kit	50.00000	EA	15.000000	750.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

Outdoor Essentials Kit
per section 3.1.6 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Bamboo Cutting Boards	20.00000	EA	24.000000	480.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

Bamboo Cutting Boards
per section 3.1.7 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	First Aid Kit	2750.0000	EA	8.000000	22000.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

First Aid Kit
per section 3.1.8 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	3-in-1 Cable Charger and Pouch	1750.0000	EA	7.000000	12250.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

3-in-1 Cable Charger and Pouch
per section 3.1.9 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Eco-friendly Sticker Books, or equal	1000.0000	EA	2.000000	2000.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Eco-friendly Sticker Books, or equal per section 3.1.10 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	Four (4) Pack Soy Crayons	1500.0000	EA	1.200000	1800.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Four (4) Pack Soy Crayons per section 3.1.11 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Recycled Mood Pencils with matching eraser	2000.0000	EA	0.750000	1500.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Recycled Mood Pencils with matching eraser per section 3.1.12 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	License Plate Frame	100.00000	EA	5.000000	500.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

License Plate Frame per section 3.1.13 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	Handy Breeze Fan and Flashlight	50.00000	EA	6.000000	300.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Handy Breeze Fan and Flashlight per section 3.1.14 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	Inspired Notebook with Pen	75.00000	EA	6.000000	450.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Inspired Notebook with Pen
per section 3.1.15 of the attached specifications